

Name: \_\_\_\_\_ Date: \_\_\_\_\_

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$a/b + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{-d}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{a}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{a}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{-d}{d} = \underline{\hspace{2cm}}$$

$$-d + \frac{-d}{d} = \underline{\hspace{2cm}}$$

$$a/b + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{-d}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{-d}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{c}{d} = \underline{\hspace{2cm}}$$

$$-d + \frac{-d}{d} = \underline{\hspace{2cm}}$$

$$c/d + \frac{-d}{d} = \underline{\hspace{2cm}}$$